
* EX diagram. (Spiders + structural maps)

representing linear maps. Q ->
QM

* "spiders" creading from left
to right).
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Note.D-0- : is the usual

phase gate PCL). (E-rotation gate)
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① We often ignore the nonzero

scalar , unless we are calculating
the amplitude of a state.

*. Hadamard gate .
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We often just write -+]-

for Hadamard-gate in Ex - diagram.



* CNOT gate
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* So spiders with horizontal and

vertical composition is enough to

represent all unitary operations. (up-to-
scalars) .



* Structural maps.

I for 1007 + /11). (bell state).

-

for identity map.

J for 2001 + < 114 (bell meas)

z for swap.
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